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el dNst sS3E 8d x4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LS S8 |X2el X2 240,000 1,000,000 A760,000
= 72,000
Al 168,000
402 212+ X+=01 & 240,000 1,000,000 A760,000
= 72,000
Al 168,000
02 QI XHE AL E R (01X THE) 240,000 1,000,000 A760,000
OBSFE F=HEZME XA (BI2R)
40,000,000 30 A 120,000
== 36,000
Al 84,000
OSSFE FHEZMNE XML (YR)
40,000,000 *3H A 120,000
= 36,000
Al 84,000
OHIIE =K SAHAIEHE XA 100,000 100,000 0
s 30,000
Al 70,000
402 2I2F X201 & 100,000 100,000 0
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Al 70,000
02 QI X2 AL EE (01X THE) 100,000 100,000 0
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= 38,894,000
=S 3,025,089
Al 1,615,3%4
HNASE FHEO 43,215,556 34,451,183 8,764,373
= 38,894,000
= 3,025,089
Al 1,296,467
FHa 43,215,556 34,451,183 8,764,373
= 38,894,000
= 3,025,089
Al 1,296,467
301 EtE N = 42,815,556 34,051,183 8,764,373
= 38,534,000
< 2,997,089
Al 1,284,467
01 AR 2EHSHS(RNEXRTH) 42,815,556 34,051,183 8,764,373
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SEXEEEESED
42,815,556,000& 42,815,5%
= 38,534,000
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[ 28,000
Al 12,000
02 SIS0t =S A A 400,000 400,000 0
ORI 24 2T 304
400,000,000 400,000
= 360,000
< 28,000
Al 12,000
FHEXA 318,887 314,891 3,99%
FHENHE 2¢ 318,887 314,891 3,99%
308 AHXIEMSOIH 318,887 304,891 13,996
11 SIS0t oA AS A 318,887 304,891 13,996
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201 er23| 23,760 23,760 0
01 At2tltl 23,760 23,760 0
ORAMEgII=23H| 23,760
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01 =LHO LI 31,680 31,680
Oge=aI|1=20H|
120,000& x22E « 12 31,680
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M FAZSLRFAI 4,200 4,200
ORNEgg =AY 350,000 x 12 4,200




